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(1) % A (A F1 i B
(A7 M. %)

X 4 ﬂ?ﬁiﬁ:@fﬁ%%ﬂ?i@i #75233$f§%*ﬂ?§ t\l:‘ ii
T RO | MRk | T A g | ERkEE | M8 O BR[| R
5 RO OB R B OB 2,977,980 24.3| 2,858,830 24.9 119,150 4.2
105 A B k& O F B 10 0.0 10 0.0 — —
15 B X W 4| 2,500,430 20.4| 2,524,500 22.0] A 24,070 A 1.0
20 B AN B FEZANMNE 613,020 5.0 569,080 5.0 43,940 7.7
23 ;i W1 & M B R A & 2,347,080 19.1] 2,166,090 18.9 180,990 8.4
25 B 53 H & 725,610 5.9 477,510 4.2 248,100 52.0
303 [ #E ¥ &KL fF 4| 1,060,690 8.6/ 1,018,890 8.9 41,800 4.1
35 [ PE I A 10 0.0 10 0.0 — —
40 # A 4| 2,035,670 16.6] 1,847,720 16.1 187,950 10.2
45 f& Bk & 5,000 0.0 5,000 0.0 — —
50 &f I A 14,500 0.1 14,360 0.1 140 1.0
= 5 12,280,000 100.0| 11,482,000 100.0 798,000 7.0
(2) % H (A F1 i BB
(AL M. %)

% s PR 2AFEEN W) TR | ER23FEE Y W) TR L %
TR K| WAL | T B O | MERKEL | M8 OB FE | R
5 #& % # 314,630 2.6 259,940 2.3 54,690 21.0
0% Bk £ | 8,024,090 65.3] 7,543,160 65.7 480,930 6.4
11 % W & s & 8% 4 %) 1,800,910 14.7] 1,600,180 13.9 200,730 12.5
12 /57 W & e & WA & F 2,240 0.0 5,180 0.0 A 2,940 A 56.8
5% AN & @& I H & 20 0.0 1,100 0.0 A 1,080 A 98.2
7 #OWm & & 751,030 6.1 682,620 5.9 68,410 10.0
20 3% [A #F ¥ W M & 1,235,500 10.1| 1,244,560 10.8 A 9,060 A 0.7
26 % =¥ F 124,410 1.0 119,090 1.0 5,320 4.5
305k & MOy & 60 0.0 60 0.0 — —
35 A & # 10 0.0 10 0.0 — —
40 §% 53 H & 17,100 0.1 16,100 0.1 1,000 6.2
45 ¥ T # 10,000 0.1 10,000 0.1 — —
= 5 12,280,000 100.0| 11,482,000 100.0 798,000 7.0
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(1) &% A (A BT 38
(A7 T, %)
% N ﬂ?ﬁi%ﬁfﬁ%%ﬂ%ﬁé ﬂ?ﬁi&ﬁfﬁ%fﬁ)ﬁ% J:‘I:‘ $i
T A B | MR | A B | MRk [ B R | EECE
5 H & kA H & 1,950 0.0 4,820 0.1 A 2,870 A 59.5
108 H B & O F OB 2,039,670 24.3] 2,076,430 63.6] A 36,760 A 1.8
15 B X H 4| 3,208,540 38.2 — —| 3,208,540 HryE
25 & A 4| 2,123,370 25.3| 1,045,740 32.0 1,077,630 103.0
30 #4 ik & 5,000 0.1 5,000 0.2 — —
35 i I A 70 0.0 110 0.0 A 40| A 36.4
40 T f&[ 1,029,900 12.2 132,900 4.1 897,000 674.9
=) B 8,408,500 100.0[ 3,265,000 100.0[ 5,143,500 157.5
(2) % H (A HV I )
(AL T, %)
% N R 2AF L W) T R | R 23T Y W) TR ke L%
T OB OB | MR | T OB AR | AERkEE | MY OB BH | R
5 & % # 1,947,260 23.2] 1,963,560 60.1| A 16,300 A 0.8
10F K E F ¥ # 140,290 1.7 273,830 8.4 A 133,540 A 48.8
3% #F # H | 5,311,160 63.2 — —|  5,311,160| g
15 2 & #| 1,008,790 12.0] 1,026,610 31.4] A 17,820 A 1.7
20 T fii # 1,000 0.0 1,000 0.0 — —
= B 8,408,500 100.0[ 3,265,000 100.0[ 5,143,500 157.5
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(1) % A (A BT 30
(AL T, %)
X N qzﬁi%ﬁﬁfﬁ%%ﬂ?% H?EE%BEIE%%B?Z% 4 $i
T A OB | MRk | T OH g | RERkEE | B8 P AR | HEECE
54 H B & OV F R 159,390 57.4 157,650 56.7 1,740 1.1
7 W PE 1 A 670 0.2 1,030 0.4 A 360[ A 35.0
10 fét A 4 117,600 42.3 77,880 28.0 39,720 51.0
15 # K & 100 0.0 100 0.0 — —
20 &6 12 A 140 0.1 140 0.1 — —
= 5 277,900 100.0 236,800 85.2 41,100 17.4
(2) 7% tH (A HVE )
(A7 T %)
% N R 244E B W) TR | SRR 3 M) TR ke L%
T OB OB | MRk | T R FE | RERKEL | B R R | HERECE
5 % % # 89,430 32.2 95,460 40.3 A 6,030 A 6.3
102 M » H F ¥ & 187,470 67.5 140,340 59.3 47,130 33.6
20 T fisi # 1,000 0.4 1,000 0.4 — —
a 5 277,900 100.0 236,800 100.0 41,100 17.4
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(1) % A (A F1 x93
(HEAL T, %)

% N 3?5234$f§‘é’|%ﬂ?% ﬂ?ﬁi%ﬁfﬁ%%ﬂ?%ﬁ J:‘I:‘ ?2
T AR | MERkE | PO FA | RERkEE | B P BR[| HEBEeE
55 R B BH 1,148,990 24.4| 1,006,990 23.1 142,000 14.1
15 B X W & 827,370 17.6 755,670 17.4 71,700 9.5
20 W 53 i 4 662,590 14.1 615,010 14.1 47,580 7.7
25 X K & & P & 1,276,780 27.11 1,214,650 27.9 62,130 5.1
27 [ PE I A 480 0.0 410 0.0 70 17.1
30 & A 4 795,770 16.9 760,210 17.5 35,560 4.7
R ik & 1,000 0.0 1,000 0.0 — —
45 7% I A 120 0.0 60 0.0 — —
= 7t 4,713,100 100.0[ 4,354,000 100.0 359,100 8.2
(2) % H (A HV T )
(AL T, %)

% N R 2AF L W) T R | R 23T Y W) TR ke L%
T OB OB | MR | T OB AR | AERkEE | MY OB BH | R
5 & % # 195,230 4.1 190,590 4.4 4,640 2.4
0% Bk | 4,370,730 92.7| 4,008,890 92.1 361,840 9.0
20 MU M X OB’ OF ¥ OB 136,030 2.9 143,480 3.3 A 7,450 A 5.2
255 & M MY & 4,610 0.1 4,540 0.1 70 1.5
35 X i & 1,500 0.0 1,500 0.0 — —
40 ¥ fisi # 5,000 0.1 5,000 0.1 — —
= 5 4,713,100 100.0[ 4,354,000 100.0 359,100 8.2
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(1) m A (A B IE 80
(HAr T %)

X N ﬁ&%ﬁﬁ%@?ﬁ i%mw%ﬁ%@%% 4 %\

T A R | MEAUE | T OB OB | MERRUE | MY OB B | HEEeE
5% — v 2 Ix A 713,280 60.8 712,910 60.4 370 0.1
70 X s &> 2,260 0.2 13,530 1.1] A 11,270 A 83.3
10 f& A &> 455,840 38.8 452,040 38.3 3,800 0.8
15 fd 2} & 500 0.0 500 0.0 — —
20 7 I A 1,720 0.1 1,720 0.1 — —
= £ 1,173,600 100.0{ 1,180,700 100.0 A 7,100 A 0.6
(2) % H (A HV T )
(EAr T %)

% N R 244 B W) TR | SRR 3 Y P T A ke %

TR OB | MERRME | T OB BE | MERIE | R B | BEEsR
5 f& % # 51,050 4.3 58,750 5.0 A 7,700 A 13.1
10 ¥ # 888,920 75.7 888,320 75.2 600 0.1
15 A & # 232,630 19.8 232,630 19.7 — —
20 T fi # 1,000 0.1 1,000 0.1 — —
= it 1,173,600 100.0{ 1,180,700 100.0 A 7,100 A 0.6
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(1) % A (A BT )
(A7, T %)

% 4 ¥%%$§%@?ﬁ ﬁﬁ@ﬁ&%@f% It &\

T OB OB | MAkE | T OB B | AU | g | R
5 % W& w2 RO IR BB 755,790 85.0 665,230 84.6 90,560 13.6
1068 H B & OV F & B 10 0.0 10 0.0 — —
15 fd A 4 128,050 14.4 113,110 14.4 14,940 13.2
20 & el & 3,000 0.3 5,390 0.7 A 2,390 A 44.3
25 &t 12 A 2,150 0.2 2,260 0.3 A 1100 A 4.9
= 7 889,000 100.0 786,000 100.0 103,000 13.1
(2) % H (A EIE 3)
(A7 T %)

% N R 244 B W) TR | SRR3R Y P T A ke %

TR OB | MERUE | T RO | MEREE | M8 OB FE | HEeR
5 & % # 55,090 6.2 50,050 6.4 5,040 10.1
10 1% 91 v thn o 2 4 L telonkl & 4 830,910 93.5 732,950 93.3 97,960 13.4
15 &% 53 H & 2,000 0.2 2,000 0.3 — —
20 T fii # 1,000 0.1 1,000 0.1 — —
= &t 889,000 100.0 786,000 100.0 103,000 13.1

25




